—— A
N = 0] &F AF S & AN A
20178 = 20 A LEHSH & Al
25 S A
NI HFEH Y9 HH|
Sl HFEHOIS FH 2 A CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
< Al B 3,798,886 2,082,275 1,716,611
Xl 2,472,886
Al 320,480
- 1,005,520
= X9 AH| 254,720 285,747 N 31,027
HFEHOIS &Y € K& 254,720 285,747 A31,027
HEYH XY HUALY 2,939 2,699 240
201 et Y| 1,680 1,440 240
01 AP 22| d| 1,680 1,440 240
Ol 1,680
- e =N
7,000 #3021 x100L »80%< & 2> 1,680
202 044l 1,259 1,259 0
01 2Ll 1,259 1,259 0
OYF=HXNILAL=A 0 H|
87,4003 301 x3 %2 3| x80%<E 2> 1,259
(HE Y =HXE XNEAY 251,781 283,048 N31,267
201 et d| 22,000 22,000 0
02 222 H4| 22,000 22,000 0
OZ2ZQ2Y A 22,000
— BHZICCTVEDIILEN RS 17,000,000 17,000
— S H =CCTVS Al 22l H] 4,000,000& 4,000
—HRYAMNARZ2PE IS 2L
1,000,000 1,000
301 LBt A= 2,000 4,000 A 2,000
11 JIEtE A2 2,000 4,000 A 2,000
OIS EFHSIAIYHI K& 2,000,000& 2,000
307 gizto| A 10,000 5,000 5,000
02 QIZIA AAIE E X 10,000 5,000 5,000
O2ssl2d2LsIAHFD2EH|
3,000,000& 3,000
o83 - llssa2ss)IAH=2H XA
7,000,000& 7,000
401 AlEHIZL 2 0HY| 31,000 58,847 NP7 ,847
01 Al&H| 31,000 58,847 NP7 ,847
OLES2UIs2LEHZ2AH21E) 18,000,000& 18,000
OO0 A ALY (238) 13,000,000& 13,000
402 SI2FXHE0| M 186,781 193,201 N6,420
02 CIZEXIE A EX (0| XM THL) 186,781 193,201 NB,420
OrESAHEH R (7THE) 94,351,000 94,351
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2AM: SAD
B ogE K "y
el YEMOIS Ful Y N CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OgFHXAI=SSYAHIXNA(THS)
12,000, 000& 12,000
OO0l8s (08 )sMsZESALAZS Y
16,000, 000& 16,000
Olls=(248,258)F20ISBSANEEIES
2 24,000,000 24,000
Obls=0ts23&cCTVv2 e (258) 5,000,000 5,000
onssssJIAHTY 16,500
—8235(198) 48 s(228)220 72
6,000,000& 6,000
—0l8s(208)01Z01 ¢ 3,500,000& 3,500
—d¥S(228), 018 (258)0 =012
4,000,000& 4,000
—0l&S(248)E = AlHIDI 3,000,000& 3,000
OoltsssE5+¢Y 18,930
—E3s(198 423 lissagaz2y
3,400,000& 3,400
—yEs(228)2s0|727Y 12,540,000& 12,540
— S 23E )T NY 2,990,000& 2,990
KEIotsst SAIHE 3,470,465 1,696,041 1,774,424
Xl 2,472,886
Al 320,480
- 677,099
FHEZMNE M 1,657,443 1,405,869 251,574
Xl 998,000
Al 249,000
- 410,443
ST =HESIIME A 30,000 0 30,000
401 Al HI K 201 I 30,000 0 30,000
01 A& tI 30,000 0 30,000
OSUS214B XL 2 & -3 2L T Al H =
NEZEEYH 30,000,000& 30,000
ENSZHAAY X 12,443 10,869 1,574
201 Let24dy| 7,179 6,357 822
01 AP 2teltl 6,204 5,392 812
Ogt==&H| 2,844
=R DN RNPNESE=§= Eatug=d
311,000 & *52 X «80%<ZE &> 1,244
—SFMMLEEIN=T
200,000 & »5& X[ «27] 2t+80%<&E 2> 1,600
O=gtl 3,360
—SANSMEZFIEZ S A
7,000 «621 x 100 *80%<E 2> 3,360
02 2324l 975 965 10
O=323<LHA 975
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—SANLALZTNMDESRSE LS R
1,950& 5004 975
202 O4dl 5,264 4,512 752
01 = LH 4 Hi 5,264 4,512 752
OZAMIHEASE =& HI
20,0003 #721 «47 L +80%<E 2> 5,264
ZES(E2)NF =AHSBAMLAMLY 636,000 694,000 /58,000
X 318,000
Al 159,000
- 159,000
401 AIEHI L 20HEI 636,000 694,000 A 58,000
Xl 318,000
Al 159,000
- 159,000
01 A& HI 632,000 689,630 A57,630
OFS(ES)NA=AHSIMLALY
632,000,000 632,000
X 316,000
Al 158,000
- 158,000
03 AlE 2 THHI 4,000 4,370 A 370
OFS(ES)NA=AHSAML ALY
4,000,000 4,000
X 2,000
Al 1,000
- 1,000
ds 22X+ ME0E MY 979,000 701,000 278,000
X 680,000
Al 90,000
- 209,000
401 Al B 201 8] 779,000 701,000 78,000
Xl 540,000
Al 72,000
- 167,000
01 A& HI 774,100 696,584 77,516
OXSE=XNTME0IS ALY 774,100,000& 774,100
Xl 536,596
Al 71,546
- 165,958
03 A& =2 THHI 4,900 4,416 484
OFSE=XNTME0IS ALY 4,900,000 4,900
Xl 3,404
Al 454
- 1,042
403 UHXSHHSA=0l& 200,000 0 200,000
Xl 140,000
Al 18,000
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2N
X ZH -
L= B

el

Al 1t
Eotse TANY
HEZIMHE AL

- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
- 42,000
02 BI2SOHUS A= AE Y 200,000 0 200,000
ORESSDNPMSOIS A e+ ay)
200,000,000& 200,000
Xl 140,000
Al 18,000
- 42,000
SS X0l B2l 1,637,286 24,700 1,612,586
Xl 1,474,886
Al 71,480
- 90,920
e HERH 2L (EX) 9,286 15,100 N5,814
Xl 9,286
201 LBt 5,386 8,480 N 3,094
Xl 5,386
01 AP 22| H| 5,386 8,480 N 3,094
Ogbt4=24| 3,286
— CHUHE X BHH &2 42 600,000 34 1,800
Xl 1,800
—ANRESIFULEEZHH 1,486,000 1,486
N 1,486
O=&H| 2,100
S Ey === e S
7,000& x321 %100 2,100
Xl 2,100
202 o4 | 3,900 6,620 N2,720
Xl 3,900
01 2L I 3,900 6,620 N2,720
OMLHB TAALER L (HALE)
20,000& 321 x5! 3,900
Xl 3,900
OHE M B R0 N KR AY 9,600 9,600 0
Xl 8,640
Al 480
- 480
301 LprE A 9,600 9,600 0
N 8,640
Al 480
- 480
11 JIEtE A= 9,600 9,600 0
OMNLMEtRAMEH EE ALY 9,600,000& 9,600
N 8,640
Al 480
- 480
Ol8sS OISt & - LA ZA 158,000 0 158,000
Xl 142,000
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2N
X ZH -
L= B

el

o =

Al 1t
Eotse TANY
EH 0 @B

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t

Al 8,000
T 8,000

401 Al& Bl 28I 158,000 158,000
Xl 142,000
Al 8,000
T 8,000

01 A& HI 156,880 156,880
O0l8 S0t & 156,880, 000& 156,880
Xl 140,992
Al 7,944
- 7,944

03 Al 2 THHI 1,120 1,120
Oolg=sitsetd & 1,120,000& 1,120
Xl 1,008
Al 56
T 56

Clots A=z =% 366,000 366,000
Xl 330,000
Al 18,000
T 18,000

401 Al&HI & 28I 366,000 366,000
Xl 330,000
Al 18,000
T 18,000

01 A& HI 363,370 363,370
O4tCItEa Y 2 & & Z A 363,370,000 363,370
Xl 327,634
Al 17,868
- 17,868

03 A2 2 0HHI 2,630 2,630
O« g 2= 2,630,000 2,630
X 2,366
Al 132
T 132

CEFENY EXAY 194,400 194,400
Xl 174,960
- 19,440

401 Al I 28I 194,400 194,400
Xl 174,960
- 19,440

01 A& HI 193,100 193,100

OLEFEHINSE T AL (902 / X2 E10%)

193,100, 000& 193,100
Xl 173,790
T 19,310

03 Al SR THHI 1,300 1,300
OLFFEIMEZ XA 1,300,000& 1,300
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2N S Al
M XNEIbsst TAMNY
&9 S8Xel B2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 1,170
T 130
HEs MHBsX 522 ZdAME 900,000 0 900,000
Xl 810,000
Al 45,000
- 45,000
401 Al HI K 201 I 900,000 0 900,000
Xl 810,000
Al 45,000
- 45,000
01 A& 8l 894,400 0 894,400
OUYSHMEISK sl 2 =LA
894,400,000 894,400
Xl 804,960
Al 44,720
T 44,720
03 AlE 2 THHI 5,600 0 5,600
OUHBSMEISNFIZ LAY 5,600,000& 5,600
Xl 5,040
Al 280
- 280
SANHE 2R 170,736 168,872 1,864
S AIHE 22 170,736 168,872 1,864
201 L2l 20,328 12,264 8,064
01 At 2t 2l 20,328 12,264 8,064
Oget=&H| 8,640
—CAHEYAYA BB DR
45,0003 20 *2 00 Al x63] x80%<E 2> 8,640
o2g+¢ 9,000
—SAAEARS F A (ZUZEE)
100,000& = 1521 63| 9,000
Oz &l 2,688
—CAHEYREAS2ZAY
7,000 421 +120 2 «B0%< & 2> 2,688
202 44l 3,008 3,008 0
01 SLHOIYI 3,008 3,008 0
OEAMAHLRFE NI
20,000 401 47 L x80%<E 2> 3,008
203 YR =2t 11,200 11,200 0
03 Al =X YR =& 11,200 11,200 0
OZAIHEAIZHH 2=
2,000,000& *80%<& 2> 1,600
OZANAEANBMASFA
12,000, 0003 *80%< & 2+> 9,600
204 MR AH| 76,200 80,400 A 4,200
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2AM: ZAD

M XNEIbsst TAMNY
2ol SANY RN EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 EZYRFHI 76,200 80,400 A 4,200
ol gsH (¢E T AI=620I5t)
50,000& =127 «12& 76,200
401 A& HIZ 201 I 60,000 32,000 28,000
01 A& HI 60,000 32,000 28,000
OZIINIZBHZAIAE Al ol M &S HI
60,000,000& 60,000
S AN ALY 5,000 96,600 A 91,600
HEX 2 (HZFEI2)T AN AS 5,000 96,600 291,600
201 Let24d] 5,000 5,600 A 600
01 At 22l 5,000 5,600 A 600
o2g+¢ 5,000
—HENRCANL AR E ALY
(ZEDBEE)
100,000& » 102! 53] 5,000
HY I ZH (S AlD) 73,701 100,487 A 26,786
el 2l 51,715 79,882 A 28,167
ol 2l 51,715 79,882 N 28,167
101 1244 dl 51,715 79,882 A28, 167
01 2= 48,226 49,973 A1, 747
OAlZt 28+
9,B849% #1401 x35A| 2F+ 122 x85%< & 2> 48,226
02 JIEt& B = 3,489 0 3,489
ONAAZR 4+ (FALE)
9,773« 121 +x35A| 2F+ 122 #85%< & 2> 3,489
Jl2 &3l 21,986 20,605 1,381
JlE&l 21,986 20,605 1,381
201 ¢4l 11,527 11,316 211
01 At 2t 2l 11,527 11,316 211
Ogt=gHl 7,936
—RA2E =2 9,920,000& »80%<E 2> 7,936
O= &l 2,151
— RARYYREAZ ALY
7,000 «16Q1 x24 2 «80%<E 2> 2,151
Oogxz 1,440
—dXSAYE 120,000 = 1CH 123 1,440
202 O4dl 2,959 2,959 0
01 = LH o4 HI 2,959 2,959 0
OEA 22 HRFENHYI
87,4003 #4021 x3 x23| xBO%<E 2> 1,679
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